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A. = —cm? /sec

3

B. = 8cm? /sec

C. = 3cm?/sec

3
D. = —cm? /sec

8

Answer: A
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A. = 40mem? /sec
B. = 100mcm? /sec
C. = T0mem? /sec

D. = 80mem? /sec

Answer: B
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3. g Pl AT U THM ®Y A 5em /sec DI &R A
96 38! & ST1d HIST 6 g 1 et bl R A 96
Y&l & 319 AT 6em &


https://dl.doubtnut.com/l/_iECzGkR1Bxsk
https://dl.doubtnut.com/l/_jEVridDvOxLY

A. = 20mem? /sec
B. = 40mcem? /sec
C. = 60mem? /sec

D. = 80mem? /sec

Answer: C
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A. = 600cm’ /sec
B. = 700cm® /sec
C. = 800cm® /sec

D. = 900cm”’ /sec

Answer: D

O S &

5. Th YceR ol 2lid it & Behd R clg¥ 5 IHl/
AHvs I ¥ A gATHR 9Y F I Bl 21 I I
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A. = 80mem? /sec

B. = 70mem? /sec

C. = 60mem? /sec

D. = 50mem? /sec
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(b) &IBAH = 2cm? / min HI R A IfG
SRR

C.(a) URAM A = 3cm/ min Hl &R A B
SEEE
(b) 8B H = 3cm?/ min &I R A IfG
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D.(a) URAM A = 4cm/ min Hl &R A HHI
HEEE
(b) &IBA H = 4em? / min HI R A 9fG
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g
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A. —cm /sec
T

2
B. —cm /sec
T
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C. —
7rcm/sec
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D. —cm /sec
T
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B. Ecm2/sec

2

C. —cm?
5 cm /sec

D. 2cm? / sec

Answer: B
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A.200cm? / min

B. 300cm? / min

C.400cm? / min

D. 500cm? / min

Answer: A
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A. 116

B. 96

C.90
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A. 107
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D. 1107
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A. 90

B. 95
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B. 4mem? / sec
C.6mem? /sec

D. 8mcm?® /sec

Answer: D
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4.TF g & A 0.7 JH/A B R I 96 B 8
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A. 3.4mem [ sec
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C.4.4mem [ sec

D. 1.4wem / sec
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5. x adl y & M I 40 &, e YR fb
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A.10cm? /s
B./3cm? /s

C.104/3cm? /s
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foa &1 o, 39 I9Y 319 WSl &1 fAger RART fiar
oM P e, &

‘10 —radian /sec

50 —radian /sec
C. 20radian /sec

D. 10radian /sec
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A.2,2

B.2.5, 2.5

C.3.5,3.5

D.3,3
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